April 25, 2025

Math 1A Worksheet #33
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1. Verify the following formulae. |
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2. Compute the following indefinite integrals.
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3. Let f(z) be the slope of a hiking trail at a distance of z miles from the trailhead. What does f.f f(z) dzx
represent? gl i /7[ o 3->8 il
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4. Find the area of the region enclosed by the y-axis, the line y =1, and the curve y = /z. Hint: there are 2
ways to do this!
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5. The acceleration of a particle traveling along a line as a function of time ¢ is given by a(t) = 2t + 3. The
velocity of the particle at time ¢ = 0 is v(0) = —4. Find (a) v(t), the velocity of the particle at time ¢, and (b)
the displacement of the particle during the time 0<t<d. - A
B.) (33 + = (3) - F(3)
6. Water flows from the bottom of a storageé tank at a rate of r(t) = 200 — 4t liters per minute, for 0 < ¢t < 50.
Find the amount of water that flows from the tank during the first 10 minutes. ’
Z )i}t Y- 200 = WO L)
7. Using the fundamental theorem of calculus, simplify
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1. Sketch the curve y = & + cosa.
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2. A right circular cylinder is inscribed in a cone with height h and base radius 7. Find the largest possible
volume of such a cylinder.
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3. Find f given f"(x)
1

Yz — cosz and f(0) =2 and f(1) = 2.
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